Thornlie Senior High School



YEAR EIGHT 2024 24 H05 08 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "CG33" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY ONLY

Your order will be dispatched for \$5.00 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the return date will incur a fee of \$8.00 and sufficient time should be allowed to guarantee delivery can occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

Office Use	Description	ltem No.	Item Reqd		Qty Reqd	Unit Price \$	Total Amount S
	YEAR EIGHT						
	STATIONERY						
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION	IВ					
D76000	Option A	4			4	C4 00	C4 00
P76900	Secondary Stationery Pack COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING	1			1	64.00	64.00
	Retail Price: \$75.00 Cost Saving: \$11.00 Resource List Special Price: \$64.00 OR Option B SELECT INDIVIDUAL ITEMS AS REQUIRED						
P55110	Binder A4 2D Ring 25mm PE Black	2			1	5.35	5.35
P55442	Display Book A4 20 Pocket Black Refillable	3			1	2.15	2.15
P55449	Display Book A4 20 Pocket Red Refillable	4			1	2.15	2.15
P50281	Document Envelope A4 PP With Press Stud Clear	5			1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	6			1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	7			2	0.40	0.80
P55546	Exercise Book A4 64 Page 8mm	8			4	1.30	5.20
P55551	Exercise Book A4 96 Page 8mm	9			2	1.65	3.30
P51353	Glue Stick 40gm Artline Purple	10			1	2.75	2.75
P51157	Highlighters Pkt 4 Micador ECO	11			1	3.50	3.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	12			1	3.80	3.80
P50113	Markers Faber Project Wallet 12 Assorted	13			1	3.45	3.45
P56213 P50006	Pencil Case 340x170mm Name Large	14			1	3.40	3.40
P52001	Pencil (HB) Micador Essential	15 16			3	0.35 0.65	1.05
P56094	Pencil (2B) Goldfaber Pen Ballpoint Cap Type Black Medium	10			2 2	0.05	1.30 0.70
P56095	Pen Ballpoint Cap Type Blue Medium	18			4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	19			4	0.35	1.40
P56329	Pocket Plastic A4 11 Hole Box 100	20			4	7.10	7.10
P56252	Pencils-Coloured 12's Colourush	20			1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	22			1	0.75	0.75
P50161	Scissors 170mm Maped Plastic Handle	23			1	2.30	2.30
P56242	Sharpener Pencil Barrel Double Hole (EL)	24			1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	25			1	14.05	14.05
	THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PL	EASE	SELECT	AS RE		ED	
	Whiteboard Marker Black Lumocolor 351 Staedtler	26			4	3.95	15.80

Office Use						
011100 000	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SUBJECTS					
	AUSLAN - LANGUAGE ENRICHMENT					
P51006	Document Envelope A4 PP With Press Stud Blue	27		2	1.25	2.50
P55570	Exercise Book 225x175mm 64 Page 8mm	28		1	1.05	1.05
P50589	Pen Ballpoint 4 Colour BIC	29		1	3.40	3.40
P52001	Pencil (2B) Goldfaber	30		4	0.65	2.60
	DESIGN & TECHNOLOGY					
P55522	Eraser Plastic Pencil Economy in sleeve	31		2	0.70	1.40
P56166	Pencil (HB) Copperplate	32		2	0.55	1.10
				_		
	DIGITAL TECHNOLOGIES					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	33		1	14.05	14.05
	ENGLISH					
P55110	Binder A4 2D Ring 25mm PE Black	34		1	5.35	5.35
P51006	Document Envelope A4 PP With Press Stud Blue	35		1	1.25	1.25
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	36		2	2.15	4.30
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	37		1	3.80	3.80
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	38		1	14.05	14.05
	HEALTH EDUCATION No resources required.					
	HOME ECONOMICS Students to supply lunch box sized container to take home prepa	red food.				
P52494		20	_	0	4.40	0.00
P55551	Document Wallet FC Slimpick Grey Exercise Book A4 96 Page 8mm	39 40		2 4	1.10 1.65	2.20 6.60
F35351	Exercise book A4 90 Fage on in	40		4	1.05	0.00
	INSTRUMENTAL MUSIC					
P55442	Display Book A4 20 Pocket Black Refillable	41		2	2.15	4.30
P50281	Document Envelope A4 PP With Press Stud Clear	42		2	1.25	2.50
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	43		1	2.20	2.20
	JAPANESE					
P51006	Document Envelope A4 PP With Press Stud Blue	44		1	1.25	1.25
P55546	Exercise Book A4 64 Page 8mm	44 45		1	1.20	1.25
P50589	Pen Ballpoint 4 Colour BIC	45		1	3.40	3.40
			_			
DEFORE	MATHEMATICS					
P55285	Calculator HP Scientific HP-10s	47		1	25.95	25.95
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	48		6	2.15	12.90
P52564	Grid Book A4 48 Page 5mm Grid Squares Spirax #132	49		1	1.25	1.25
P51609	Magnetic Whiteboard 21 x 29cm (double sided with marker)	50 51		1	9.50	9.50
P56353	Protractor 10 cm 180 4" Half Circle	51		1	0.45	0.45
P50090 P52208	Ruler 300mm Wooden Whiteboard Marker Artline #579 Chisel 2-5mm Black	52 53		1 2	1.10 4.20	1.10 8.40
	WINESSOUL WARE AUNTE #313 CHISELZ-SHITT DICK	00		2	4.20	0.40

	Please tick the items required in the box provided					
			\checkmark			
Office Use	Description	ltem No.	ltem Regd	Qty Board	Unit Price \$	Total Amount \$
Office Use	Description	NO.	Requ	Kequ	Flice a	Amount ş
	NETBALL					
	TSHS Netball Uniform (dress) \$100.00 - Can be purchased from TSHS Physical Education Polo Shirt (with school logo & "Physical Educati Physical Education Polo Shirt - Can be purchased from Uniform Con Students are required to supply a small/medium padlock for the valu	on") for ALI cepts/Nell (L PE classe Gray	es \$33.00		
	PERFORMING ARTS					
	PE Uniform to be worn for dance component of this course.					
P50281	Document Envelope A4 PP With Press Stud Clear	54		1	1.25	1.25
	PHYSICAL EDUCATION GENERAL					
	Physical Education Polo Shirt (sky blue with school logo & "Physica Physical Education Polo Shirt - Can be purchased from Uniform Con Students are required to supply a small/medium padlock for the valu	cepts/Nell (Gray	PE classes \$	33.00	
	SCIENCE					
P55551	Exercise Book A4 96 Page 8mm	55		4	1.65	6.60
P56708	Whiteboard Markers Connector Wallet 4 Assorted	56		1	9.15	9.15
	SCIENCE ACADEMIC EXTENSION					
P55551	Exercise Book A4 96 Page 8mm	57		4	1.65	6.60
P56708	Whiteboard Markers Connector Wallet 4 Assorted	58		1	9.15	9.15
	SPECIALISED RUGBY					
	Students are required to purchase the rugby training top and training year (\$70 for both).	g shorts fro	m the Rugt	oy Academy	at the sta	rt of the
	VISUAL ARTS					
	Year 8 students will be advised by the Art Department in 2024 what s	stationerv th	nev will nee	d to purcha	se.	
P52013	Pencil (4B) Goldfaber	59		5 c	0.65	3.25
P58197	Visual Art Diary A4 60 Sheet 110gsm	60		1	6.00	6.00
	Number of Boxes ticked:					

Postage (Home delivery only)

\$5.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 17/11/23)

NT DUE <u>\$</u>